Worksheet

Solve the following equations:

1)4x—5:§+16

2) XT_3=2(1—x)

1
3)3x+2=5(x—2)+§
4)4+3(§—1j:4x—5
1

5) %(3"‘4)*1:4"‘5

6) 3(x+§j =4+x

x—3_x—8:5—x_§

7
)2 12 4 3
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8) y+ X1 Yl 4 ¥Yo2 50 .1

4 5 10

9)

2(z-3) 3(2-2) i} 7—4z+z+1

4 5 3

10) X-9, 2x+3 _1 3(x-7)

2 5 3 9
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SOLUTION

8x-10 x 32
1)4x—5=§+16 —>—2 _E+7:>8x—10—x+32

8x—x=32+10=>7x=42=>x=6

3 X3 o o x—3=4-4x

2)T=2(1—x) .
x+4x:4+3:>5x:7:>><=g

3)3x+2:5(x—2)+%

3x+2 =5x—10+%:> 6x2+4 = 10x2—20+%:> 6x+4=10x-20+1=

6x—10x=—20+1—4:>—4x=-23:»x=2—43
4)4+3(§-1j=4x—5
3x 8 3x 6 8x-10
_— = — —_—t = — = —1
4+234x5:>2+2 > > =8+3x-6=8x-10=>
3x—8x:—10—8+6:—5x:—12:>x:%
5)%(3x—4)+1:4x—%
3x—-4 1 3x-4 2 8x 1
> +1_4x—5:>—2 +E_7—5:>3x—4+2_8x—1:>3x—8x_—1+4—2
1
HBx=1=>x=-=
= = 5
—>3x+37x=4+x:%+37x=8+2x:>6x+3x=8+2x

6) 3(x+§j:4+x o
6x+3x—2x=8:7x:8:x:7

x—3_x—8:5—x_§
2 12 4 3

7)

6x-18 x-8 15-3x 4x
1 B 1 12:6x 8-x+8=15-3x-4x=>
25

5x—10=15—7x:>5x+7x:15+10:>12x=25:>x=ﬁ
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3y-1 y+1 y-2
- 1- =2(y+1
8) y+ 4 5 17 (y+1)

20y 19y=5 A4y+4 20 2y—4_A0y+40 _ ,0 15y _5_4y—4+20-2y+4=40y+40

20 20 20 20 20 20
25

:>20y+15y—4y—2y—40y:40+5+4—20—4:>—11y:25:>y:—ﬁ

2(z-3) 3(2-2) i} 7—4z+z+1

9)

4 5 3 2
2z2-6 6-3z _ 7—4z+z+1 N 30z-90 72-36z _ 140—802+30z+30
4 5 3 2 60 60 60 60
=30z-90-72+36z=140-80z+30z+30 = 30z+36z+80z-30z=170+90+72
332 83

116z =332 ==
=116z2=332=12 16 ~ 29

Xx-9 2x+3 :1_3x—21

> + 5 3 5 m.cm. =90

10)

45x-405 36x+54 30 30x-210
90 + 90 —9—O—T:>45x—405+36x+54—30—30x+210

:45x+36x+30x:3O+210+4O5—54:>111x:591:>x:?T911:139_77
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